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Comprehension:

Study the following table and answer the questions :

The table shows the data of Demand (number of applications received) and Intake (availabl
in five colleges (A, B, C, D and E) :

College A B C D E

Demand
(application| 3000 600 2500 1200 3300
received)

Intake
(available | 1500 1800 1000 2700 2200
seats)

SubQuestion No : 1 I

Q.
" What s the ratio of the number of colleges having more demand than available seats to those
more available seats than demand ?
(1) 2:3
2 1:4
B) 4:1
@4 3:2
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911963
Option 1 1D : 42558946560
Option 2 ID : 42558946561
Option 3 ID : 42558946562
Option 4 ID : 42558946563

Status : Answered

Chosen Option : 1
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Comprehension:

Study the following table and answer the questions :

The table shows the data of Demand (number of applications received) and Intake (availabl
in five colleges (A, B, C, D and E) :

College

A

B

Demand
(application
received)

3000

600

2500

1200

3300

Intake
(available
seats)

1500

1800

1000

2700

2200

SubQuestion No : 2

The demand for college B is approximately what percent of the demand for college C ?

Q.2
1) 24%
@ 124%
G) 60%
@)  416%
Options 1. 1
2.2
3.3
4.4

Question Type

Option 1 ID

Status
Chosen Option

:MCcQ
Question ID :

42558911964

: 42558946564
Option 2 ID :
Option 31D :
Option 4 ID :

42558946565
42558946566
42558946567

: Answered
1
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Comprehension: I

Study the following table and answer the questions :

The table shows the data of Demand (number of applications received) and Intake (availabl
in five colleges (A, B, C, D and E) :

College A B (& D E

Demand
(application| 3000 600 2500 1200 3300
received)

Intake
(available | 1500 1800 1000 2700 2200
seats)

SubQuestion No : 3 I

Q3
How much percent more is the average demand of all five colleges taking together than the a

of available seats of all the five colleges ?
(1) 65.71%

(2) 40%

(3) 15.22%

(4) 35.71%

Question Type : MCQ
Question ID : 42558911962
Option 1 ID : 42558946556
Option 2 ID : 42558946557
Option 3 ID : 42558946558
Option 4 ID : 42558946559

Status : Answered

Chosen Option : 2

L |
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Comprehension: I

Study the following table and answer the questions :

The table shows the data of Demand (number of applications received) and Intake (availabl
in five colleges (A, B, C, D and E) :

College A B (& D E

Demand
(application| 3000 600 2500 1200 3300
received)

Intake
(available | 1500 1800 1000 2700 2200
seats)

SubQuestion No : 4 I
Q4
The difference of demand and available seats in college E is what percentage lower than the diff

of demand and available seats of college A ?
(1) 36.36%
(2) 42.70%
(3) 26.67%
(4) 31.24%

Question Type : MCQ
Question ID : 42558911966
Option 1 ID : 42558946572
Option 2 ID : 42558946573
Option 3 ID : 42558946574
Option 4 ID : 42558946575

Status : Answered

Chosen Option : 1

L |
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Comprehension: I

Study the following table and answer the questions :

The table shows the data of Demand (number of applications received) and Intake (availabl
in five colleges (A, B, C, D and E) :

College A B (& D E

Demand

(application| 3000 600 2500 1200 3300
received)

Intake
(available | 1500 1800 1000 2700 2200
seats)

SubQuestion No : 5 I
Q.

* The total demand of two highest demanded colleges is what percent higher than total dem
two lowest demanded colleges ?

(1)  40%
@) 250%
(3)  400%
@) 25%

Question Type : MCQ
Question ID : 42558911965
Option 1 ID : 42558946568
Option 2 ID : 42558946569
Option 3 ID : 42558946570
Option 4 ID : 42558946571

Status : Not Answered

Chosen Option : --

L |
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** Match List - I with List - II
List- I List - I1
(Proposition) (Standard Form)
A.  Universal affirmative L. NoSisP
B. Universal negative II. AllSisP
C. Particular affirmative [II. SomeS isnotP
D.  Particular negative IV. SomeSisP

Choose the correct answer from the options given below :
(1) A-I BV, C-I, D-III
(2) A-IL B-I, CIV, D-III
(3) A-1V, B-I, C-lII, D-II
(4) A-IL B-IV, C-1, D-III

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911991
Option 1 D : 42558946672
Option 2 ID : 42558946673
Option 3 ID : 42558946674
Option 4 ID : 42558946675
Status : Answered
Chosen Option : 2
|
Q7 -
Arrange the given digital initiatives of Govt. of India in chronological order as per their y
launch :
A.  e-gyankosh
B. PM e-Vidya
C. NPTEL
D. e-PG Pathshala
E. SWAYAM

Choose the correct answer from the options given below :
(1) CADEB
@ EBCABD
3) D,AEB,C
4 BACED

Question Type : MCQ
Question ID : 42558911974
Option 11D : 42558946604
Option 2 ID : 42558946605
Option 3 ID : 42558946606
Option 4 1D : 42558946607

Status : Answered

Chosen Option : 1
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Qs
Find the next term (?) in the following number series.
0.9, 26,655,124, 217, 2, wviai
(1) 317
(2) 336
(3) 341
4) 342
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911983
Option 1 D : 42558946640
Option 2 ID : 42558946641
Option 3 ID : 42558946642
Option 4 ID : 42558946643
Status : Answered
Chosen Option : 4
T
Q.9
Arrange in sequence the process of evaluating analogical reasoning :
A. Draw Conclusion
B.  Evaluate strength of analogy
< Assess relevance of similarities
D. Detect common features
E. Identify the source and target domains
Choose the correct answer from the options given below :
1) CDAEB
@ EBADCEB
3 ACED,B
4 EDCA,B
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911989
Option 11D : 42558946664
Option 2 ID : 42558946665
Option 3 ID : 42558946666
Option 4 ID : 42558946667

Status : Answered

Chosen Option : 4
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ar The NEP, 2020 document states that :

A.  Single stream HEI's will be phased out over time
B. By 2035, there shall be at least one multidisciplinary HEI in or near every district

C.  Institutions will have option to run ODL and online programmes, provided they are accr
to do so

D.  Justice J. S. Verma Commission (2012) reports that over 20000 stand alone Teacher Edi
Institutions (TEls) are selling degrees for a price

E.  Private HEIs will be encouraged to offer large number of freeships and scholarships t
students

Choose the correct answer from the options given below :
(1) A,B,CandD Only

(2) C DandEOnly

(3) A, CandEOnly

(4) A,BandEOnly

Question Type : MCQ
Question ID : 42558911975
Option 1 ID : 42558946608
Option 2 ID : 42558946609
Option 3 ID : 42558946610
Option 4 ID : 42558946611

Status : Answered

Chosen Option : 4

-

Q1 -

“Learning to Do-Towards a learning and working society” is a title of the report submitted b

(1) Adiseshaiah Committee

(2) Kothari Commission

(3) Ishwarbhai Patel Committee
(4) Zakir Hussain Committee

Question Type : MCQ
Question ID : 42558911993
Option 1 ID : 42558946680
Option 2 ID : 42558946681
Option 3 ID : 42558946682
Option 4 ID : 42558946683

Status : Answered

Chosen Option : 3
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Q.12
Choose the "'WRONG' statements :
A. Kali Linux is a flavour of Linux OS
B. We can use Macintosh on Linux OS also
C.  Windows Surface is developed by Intel Corporation
D. Android is based on Linux OS
Choose the correct answer from the options given below :
(1) AandBOnly
(2) Band D Only
(3) Aand COnly
(4) BandCOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911999
Option 1 ID : 42558946704
Option 2 ID : 42558946705
Option 3 ID : 42558946706
Option 4 ID : 42558946707
Status : Answered
Chosen Option : 2
T
Q.13
Which one of the following does not pertain to 4 Cs of successful writing ?
(1) Concise
(2) Connect
(3) Clear
(4) Correct
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911977
Option 1 ID : 42558946616
Option 2 ID : 42558946617
Option 3 ID : 42558946618
Option 4 ID : 42558946619

Status : Answered

Chosen Option : 4
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Q.14
If the proposition‘No reptiles are squirrels’ is given as false, then which of the following propo

can be inferred to be true ?
A.  Some reptiles are squirrels

B.  All reptiles are squirrels

C.  Some non-squirrels are not non-reptiles

D.  Some reptiles are not squirrels

Choose the most appropriate answer from the options given below :
(1) AandBOnly

(2) BOnly

(3) Cand D Only

(4) A ,CandD Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911990
Option 1 ID : 42558946668
Option 2 ID : 42558946669
Option 3 ID : 42558946670
Option 4 ID : 42558946671
Status : Answered
Chosen Option : 2
T
|
Q.15 y : 2
Match List - I with List - II :
List -1 List - II
(Type of e-resource) (Description)
A. e-Journals 2 used for storing a larger volume of data
B. e-books IL published on the web as well as in the digital |
C. e-Zines III.  a piece of software
D. CD-ROMS IV. canbeused to store articles on a file server in th

of a magzine
Choose the correct answer from the options given below :
(1) A-IL B-III, C-IV, D-I
(2) A-II B-IV, G-I, D-II
(3) A-1V, B-III, C-II, D-I
(4) A-IL B-IV, C-1I, D-III

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912001
Option 1 ID : 42558946712
Option 2 ID : 42558946713
Option 3 ID : 42558946714
Option 4 ID : 42558946715

Status : Answered

Chosen Option : 1
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Q.16
The process of typing CAPTCHAS is a variation on :
(1) Turing test
(2) Turner’s test
(3) F-test
(4) t-test
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911998
Option 1 ID : 42558946700
Option 2 ID : 42558946701
Option 3 ID : 42558946702
Option 4 ID : 42558946703
Status : Answered
Chosen Option : 2
i
Q.17
Match List - I with List - II :
List -1 List - II
(Methods) (Objectives)
A.  Lecturing I. Providing direct experiences
B. Demonstration IL. Presenting facts
€ Field trip [Il. Providing purposeful activities
D. Project IV. Showing manipulations of operations
Choose the correct answer from the options given below :
(1) A-IL B-I, C-1V, D-III
(2) A-I B-1V, C-1, D-1II
(3) A-II B-1IV, C-I, D-1
4) A-IV, B, CI, D-II
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911996
Option 1 1D : 42558946692
Option 2 ID : 42558946693
Option 3 ID : 42558946694
Option 4 ID : 42558946695

Status : Answered

Chosen Option : 2
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Q.18

Which of the following are correct ?
A.  Speed of 50 km/hour is equivalent to 15m/s

The area of a rhombus with diagonals of 4 cm and 6 cm is 12 cm?

B.
G \3/\/729 is greater than 4
D.

The cost price of 10 bananas is the same as the selling prices of 8 bananas. The percentage

is 25%

Choose the correct answer from the options given below :

(1) A, BandD Only
(2) B,Cand DOnly
(3) Band DOnly

4) A, CandD Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911985
Option 11D : 42558946648
Option 2 ID : 42558946649
Option 3 ID : 42558946650
Option 4 ID : 42558946651
Status : Answered
Chosen Option : 3
|
Q.19 . . . . . - .
Find the missing term (?) in the following alpha-numeric series.
A2B, B3D, C5F, (?), E11], ......
(1) D7H
2) D8G
(3) D9H
4) D8H
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911982
Option 11D : 42558946636
Option 2 ID : 42558946637
Option 3 ID : 42558946638
Option 4 ID : 42558946639
Status : Answered
Chosen Option : 4
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** " Match List - I with List - II :
List- I List - II
A.  Experimental Research L In depth study of a single unit
B.  Ethnographic Research I.  Study of opinions of people towards social me
C.  Survey IlI. Cause and effect relationship between indept
and dependent variables
D. Case study IV.  Study of the perception of the people of a par
group regarding their life

Choose the correct answer from the options given below :
(1) A-1V, B-lII, C-II, D-I
(2) A-IL, B-1V, C-I1, D-I
(3) A-II, B-I, C-1V, D-II
(4) A-IL B-IV, C-I, D-III

Question Type : MCQ
Question ID : 42558911971
Option 1 D : 42558946592
Option 2 ID : 42558946593
Option 3 ID : 42558946594
Option 4 ID : 42558946595

Status : Answered

Chosen Option : 2

T
|
Q.21
The following are the steps related with construction and standardisation of research tool.

their correct order from earlier to later :

Construction of items

Selection of items for final draft of the tool
Item analysis

Establishment of norms

Selection of items for primary draft of the tool

MmN wp

Choose the correct answer from the options given below :
1t AECBD
@ EACBD
3¢ D.AECBE
4 AEBCD

Question Type : MCQ
Question ID : 42558911968
Option 1 ID : 42558946580
Option 2 ID : 42558946581
Option 3 ID : 42558946582
Option 4 ID : 42558946583

Status : Answered

Chosen Option : 3

L |
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Q.22
Choose the correct statements from the following regarding targets under Sustainable Develo

Goals :
A.  Target under SDGS is to sustain 7% GDP in least developed countries

B.  Target under SDG3 is to ensure universal access to sexual and reproductive health care b

C.  Target under SDG4 is to ensure equal access for all women and men to affordable «
higher education by 2030

D. Target under SDG?7 is to build resilient infrastructure, promote inclusive and susta
industrialization, and foster innovation

E.  Target under SDG6 to improve water quality by reducing pollution by 2030
Choose the correct answer from the options given below :

(1) A,B,Dand E Only

(2) A,B,CandEOnly

(3) A, BandD Only

(4) A,CandEOnly

Question Type : MCQ
Question ID : 42558912005
Option 1 1D : 42558946728
Option 2 ID : 42558946729
Option 3 ID : 42558946730
Option 4 ID : 42558946731

Status : Answered

Chosen Option : 4

-

Q.23
What is the major source of pollutant lead in homes ?

(1) Furniture
(2) Paint

(3) Utensils
(4) Notebooks

Question Type : MCQ
Question ID : 42558912002
Option 1 ID : 42558946716
Option 2 ID : 42558946717
Option 3 ID : 42558946718
Option 4 ID : 42558946719

Status : Answered

Chosen Option : 2
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Q.24
Arrange the following Erickson’s stages of development on the basis of order of their occurr
A.  Generativity and Stagnation
B.  Identity and Role Confusion
C.  Autonomy and Shame
D. Industry and Inferiority
E.  Integrity and Despair
Choose the correct answer from the options given below :
1) C,BDAE
@ CADBE
3) CEABD
4 CD,BAE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911994
Option 1 ID : 42558946684
Option 2 ID : 42558946685
Option 3 1D : 42558946686
Option 4 ID : 42558946687
Status : Answered
Chosen Option : 1
|
Q.25 “
Select the ‘RIGHT’ statements :
A.  ’Article 21-A’ inserted in constitution, is related to Right to free and compulsory educa
B.  “Article 30" of the constitution protects the Right to Information
C.  ’Article 350-A" assures the Higher Education and Research
D. ‘Article 30" of the constitution protects the Right of minorities to manage the Educ:
institutions
Choose the correct answer from the options given below :
(1) AandBOnly
(2) AandCOnly
(3) AandD Only
(4) Band DOnly
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911995
Option 1 ID : 42558946688
Option 2 ID : 42558946689
Option 3 ID : 42558946690
Option 4 ID : 42558946691

Status : Answered

Chosen Option : 4
L |
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Q.26

What is Noise Induced Permanent Threshold Shifts (NIPTS) ?

(1)  Shift due to exposure to high level sound for comparatively short period
(2)  Shift due to honking of vehicles

(3)  Shift in permanent threshold due to years of high level of industrial noise

(4)  Shift due to shorter noise exposure

Question Type : MCQ
Question ID : 42558912003
Option 1 1D : 42558946720
Option 2 ID : 42558946721
Option 3 ID : 42558946722
Option 4 ID : 42558946723

Status : Answered

Chosen Option : 3

L |

Q.27
Arrange the following shapes in increasing order of their areas :

A. A circle of diameter 10 cm

B. A rectangle of dimensions [6 cm X 4 cm]

C.  Asquare of side5 cm

D.  An equilateral triangle of side 5 cm

Choose the correct answer from the options given below :
(1) D,CAB

2 BCDA

3 BDCA

4 D,BCA

Question Type : MCQ
Question ID : 42558911984
Option 1 ID : 42558946644
Option 2 ID : 42558946645
Option 3 ID : 42558946646
Option 4 ID : 42558946647

Status : Answered

Chosen Option : 4

|
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Q.28
Arrange the sequence of processes leading to formation of ozone hole :
A. De-humidification, de-nitrification
B.  Vortex formation
C.  Pre-conditioning
D. Very low temperature polar stratosphere clouds
E.  Ozone destruction by catalysis
Choose the correct answer from the options given below :
(1) E,D,C,BA
@ BDACE
3) A,BC,D,E
4 CABDE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912004
Option 11D : 42558946724
Option 2 ID : 42558946725
Option 3 ID : 42558946726
Option 4 ID : 42558946727
Status : Answered
Chosen Option : 4
|
Q.29
Which of the following are the characteristics of Action Research ?
A. It does not aim to develop theory.
B.  Itis not conducted to generalise the findings.
C.  Sample is selected randomly.
D. Itisconducted to find the solution of local level problem.
E.  Control on variable is required in it.
Choose the most appropriate answer from the options given below :
(1) A, BandCOnly
(20 A,BandEOnly
(3) B,Cand DOnly
(4) A,BandD Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911969
Option 1 1D : 42558946584
Option 2 ID : 42558946585
Option 3 ID : 42558946586
Option 4 ID : 42558946587

Status : Answered

Chosen Option : 2
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Question ID : 42558911980
Option 1 ID : 42558946628
Option 2 ID : 42558946629
Option 3 ID : 42558946630
Option 4 ID : 42558946631
Status : Answered

** Which of the following come under the category of non-verbal communication ?
A.  Body language
B.  Shouting
C.  Gestures
D.  Facial Expressions
E.  Conversation on telephonic call
Choose the correct answer from the options given below :
(1) B,Cand D Only
(2) C,DandE Only
(3) A,BandEOnly
(4) A,CandD Only
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Chosen Option : 4
Q.31

Identify non-parametric tests :
A.  Kendall's W Test
B.  Rank correlation test

C.  Wilcoxon Test
D. tTest
E.  Analysis of Variance

Choose the most appropriate answer from the options given below :
(1) A, BandE Only
(2) B,DandE Only
(3) B,CandEOnly
(4) A,Band COnly

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558911970
Option 1 1D : 42558946588
Option 2 ID : 42558946589
Option 3 ID : 42558946590
Option 4 ID : 42558946591

Status : Answered

Chosen Option : 4
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** Match List - I with List - I :
List- I List - II
(Type of Disaster) (Consequences)
A.  Biological disaster I. Flood, drought, storm
B.  Geophysical disaster II.  Epidemic, insect infestation
C.  Hydro meterological disaster [ll. Transport disaster, riots
D.  Anthropogenic disaster IV. Earthquake, volcano, landslide

Choose the correct answer from the options given below :
(1) A-IV, B-lII, C-II, D-I
(2) A-IIL B-IV, C-1II, DI
(3) A-IIL B-IV, C-I, D-III
(4) A-l B-II, C-II, D-IV

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912006
Option 1 ID : 42558946732
Option 2 ID : 42558946733
Option 3 ID : 42558946734
Option 4 ID : 42558946735

Status : Answered

Chosen Option : 3

L |

Q.33

Choose the "'WRONG' statements :

A. 'OLED’ stands for Organic light emitting Diodes

B.  ‘Fastag’ is an example of RFID

C. ‘CAD’ stands for Computer Algorithm of Design
D. ‘RFID’ stands for Rapid Frequency Identification
Choose the correct answer from the options given below :
(1) CandD Only

(2) AandBOnly

(3) BandCOnly

(4) AandCOnly

Question Type : MCQ
Question ID : 42558912000
Option 1 ID : 42558946708
Option 2 ID : 42558946709
Option 3 ID : 42558946710
Option 4 ID : 42558946711

Status : Answered

Chosen Option : 4

L |
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Q.34
Landes (1969) considers the industrial revolution as the outcome of a combination of three inter:
streams of technical advances. Which of the following is NOT one of these streams ?
(1) “Mechanization”
(2) adoption of new power sources
(3) modification of equipments to make human life easy
(4) extensive use of new raw materials
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911997
Option 11D : 42558946696
Option 2 ID : 42558946697
Option 3 ID : 42558946698
Option 4 ID : 42558946699
Status : Answered
Chosen Option : 4
|
Qss | : e x
Evening Hours of a Hermilt’ is written by :
(1) Krishnamurthy
(2) Rousseau
(3) Khushwant Singh
(4) Pestalozzi
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911992
Option 1 1D : 42558946676
Option 2 ID : 42558946677
Option 3 ID : 42558946678
Option 4 ID : 42558946679
Status : Answered
Chosen Option : 1
|
Q.36 -
Which of the following is an example of deductive reasoning ?
(1)  Screen exposure among children at very early stage affects their Psychological health. The
we should not expose our children to digital gadgets.
(2) Smoking leads to lung cancer. Therefore, we should not smoke.
(3) Ifitis raining, then the ground is wet. It is raining. Therefore, the ground is wet.
(4) All ducks that have been observed have been white. Therefore, all ducks are white.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911988
Option 1 ID : 42558946660
Option 2 ID : 42558946661
Option 3 ID : 42558946662
Option 4 ID : 42558946663

Status : Answered

Chosen Option : 3

L |
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Q.37

The global education development agenda reflected in the Goal 4 (SDG4) of the 2030 Ager

Sustainable Development was adopted by India in

(1)
(&)
©)
“)

3.3
4.4

2020
2010
1992
2015

Question Type : MCQ
Question ID : 42558911973
Option 1 ID : 42558946600
Option 2 ID : 42558946601
Option 3 ID : 42558946602
Option 4 ID : 42558946603

Status : Answered

Chosen Option : 4

|

Q.38

Match List - I with List - II :

D.

List-1
(Committee)

Sarkar Committee 1945

Sam Pitroda Committee

K. B. Pawar Committee

Sahoo Committee

IL

[II.

IV.

List - II
(Major Focus Area/Recommendation
context of Education)

To explore Public-Private Partmership in |
Education

To recommend measures for impr
governance and accountability in F
Education Institutions

Development of Higher Technical Educa
India

Restructuring Curricula for multidisciy
professional courses

Choose the correct answer from the options given below :

1)
)
©)
(4)

3.3
4.4

A-lII, B-1V, C-[, D-1I
A-11, B-III, C-1IV, D-1
A-1V, B-1, C-11, D-1I
A-111, B-1, C-1V, D-II

Question Type : MCQ
Question ID : 42558911976
Option 1 ID : 42558946612
Option 2 ID : 42558946613
Option 3 ID : 42558946614
Option 4 ID : 42558946615

Status : Answered

Chosen Option : 4

L |
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Q.39
Match List - I with List - II :
List -1 List - I1
A. Ina class, the ratio of number of male students I 4

to number of female students is 9 : 11. The
percentage (%) of female students in the class
is

B. When a number “x” is added to the numerator and

denominator of fraction 1, II. 2

it becomes Z , then x is

C.  Twonumbers are directly proportional to each other. HI. 55
If the value of one of the number is doubled, then
their product will become times
xy +y°
D. Ifx:y=3:2 then 55— isequal to v. 1
&L =)

Choose the correct answer from the options given below :
(1) A-II, B-I, C-II, D-IV
(2) A-II, B-III, C-IV, D-1
(3) A-II, B-1IV, C-I, D-II
(4) A-II, B-I, C-IV, D-1

Question Type : MCQ
Question ID : 42558911986
Option 1 1D : 42558946652
Option 2 ID : 42558946653
Option 3 ID : 42558946654
Option 4 ID : 42558946655

Status : Answered

Chosen Option : 3

L |

** " skills to face job interviews and getting employed are part of :

(1) teaching skills

(2) soft skills

(3) learning skills

(4) manipulation skills

Question Type : MCQ
Question ID : 42558911978
Option 1 ID : 42558946620
Option 2 ID : 42558946621
Option 3 ID : 42558946622
Option 4 ID : 42558946623

Status : Answered

Chosen Option : 2

L |
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Q.4
Choose the correct statement related to Autonomous colleges in the context of recommendat

NPE 1986 (POA-1992) :

(1) Provide no special assistance to colleges in tribal areas

(2)  Full Funding by the Central Govt. for a period of 10 years

(3) Funding shall be made available through NAAC

(4) 500 colleges to be developed as autonomous colleges in the seventh five year plan

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911972
Option 1 ID : 42558946596
Option 2 ID : 42558946597
Option 3 ID ; 42558946598
Option 4 ID : 42558946599
Status : Answered
Chosen Option : 4
T
Q.42 |
Arrange the evolution of the following social media platforms in chronological order from
present :
A. Tik Tok
B. Twitter
(i FaceBook
D. Instagram
E. YouTube

Choose the correct answer from the options given below :
1) D,A,CEB
@ CDA,BE
3 EBDAC
@4 CEBDA

Question Type : MCQ
Question ID : 42558911979
Option 1 ID : 42558946624
Option 2 ID : 42558946625
Option 3 ID : 42558946626
Option 4 ID : 42558946627

Status : Answered

Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

L
Q.43
A teacher assesses the answer books of the students and based on their scores he gives them

Which scales of measurement are used by him ?
(1) Interval and ordinal

(2) Ratio and ordinal

(3) Nominal and ordinal

(4) Interval and nominal

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911967
Option 1 ID : 42558946576
Option 2 ID : 42558946577
Option 3 ID : 42558946578
Option 4 ID : 42558946579
Status : Answered
Chosen Option : 3
T
Q.44 - . -
Match List - I with List - II :
List - I List-II
A. Swayam Prabha L. Kids Programme
B. Shark Tank IL Agriculture Programme
(@ Krishi Darshan III.  Business reality T.V. Series
D. Shaktimaan IV.  Educational Programmes

Choose the correct answer from the options given below :
(1) A-1IV, B-lII, C-I1, DI
(2 A-II, B-1V, G-I, D-II
3) A-IL B-III, C-1IV, D1
4) A-1V, B-II, C-II, DI

Question Type : MCQ
Question ID : 42558911981
Option 1 ID : 42558946632
Option 2 ID : 42558946633
Option 3 ID : 42558946634
Option 4 ID : 42558946635

Status : Answered

Chosen Option : 1
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** Mimamsa s :
(1) State of mental absorption in an object, where an individual gains own experiential reali
of its true nature (Samadhi)
(2)  One of the classical schools of Indian Philosophy (Aastik Vedas)
(3)  The unorthodox means of knowledge (Nastik)

(4) A doctrine that claims all universal things are momentary in nature

Question Type : MCQ
Question ID : 42558911987
Option 1 ID : 42558946656
Option 2 ID : 42558946657
Option 3 ID : 42558946658
Option 4 ID : 42558946659

Status : Answered

Chosen Option : 4

|

Comprehension: I

Read the following passage and answer the questions :

The stock-taking done at the first national convention on Consumer Protection ser
highlight the areas that called for special attention to sustain the momentum of the moven
genuine forum for safeguarding the people’s interests. Spreading awareness about the rights
consumers and the relief open to them in case they did not get their money’s worth of goos
services has rightly been identified as the first priority.

While this may not be a difficult task in urban areas, where the movement is concentr:
present, taking it to the vast rural hinterland calls for a multi-media approach in which rad
television have a crucial role to play. The involvement of the 500-odd consumer organizations
country in publicising the concept of fair trade practices and the remedies available agains
violation will prove rewarding, if the message is conveyed through village bodies. Gover
efforts remain confined at best to setting up the infrastructure after the formal launch of the mov
with the enactment of the Consumer Protection Act. The mounting backlog of cases in con
courts, points to the need for toning up the district level redressal machinery.

SubQuestion No : 46 I

Q.46
The first national convention on consumer protection has :

(1)  highlighted the areas of special attention

(2) spread awareness about the consumer rights

(3) provided guidelines to do away with the substandard products

(4) criticised the Govt. apathy towards bringing awareness among the consumers

Question Type : MCQ
Question ID : 42558912008
Option 11D : 42558946736
Option 2 ID : 42558946737
Option 3 ID : 42558946738
Option 4 ID : 42558946739

Status : Answered

Chosen Option : 1
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Comprehension: I

Read the following passage and answer the questions :

The stock-taking done at the first national convention on Consumer Protection ser
highlight the areas that called for special attention to sustain the momentum of the moven
genuine forum for safeguarding the people’s interests. Spreading awareness about the rights
consumers and the relief open to them in case they did not get their money’s worth of goos
services has rightly been identified as the first priority.

While this may not be a difficult task in urban areas, where the movement is concentr;
present, taking it to the vast rural hinterland calls for a multi-media approach in which rad
television have a crucial role to play. The involvement of the 500-odd consumer organizations
country in publicising the concept of fair trade practices and the remedies available agains
violation will prove rewarding, if the message is conveyed through village bodies. Gover
efforts remain confined at best to setting up the infrastructure after the formal launch of the mov
with the enactment of the Consumer Protection Act. The mounting backlog of cases in con
courts, points to the need for toning up the district level redressal machinery.

SubQuestion No : 47 I
Q.47
For bringing awareness among the consumers, whose role, according to the author, is more cr
(1) Religious scriptures
(2) Radio and television
(3) Newspapers and textbooks
(4) Heads of the villages or sarpanch
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558912009
Option 1 ID : 42558946740
Option 2 ID : 42558946741
Option 3 ID : 42558946742
Option 4 ID : 42558946743

Status : Answered

Chosen Option : 2

L |
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Comprehension: I

Read the following passage and answer the questions :

The stock-taking done at the first national convention on Consumer Protection ser
highlight the areas that called for special attention to sustain the momentum of the moven
genuine forum for safeguarding the people’s interests. Spreading awareness about the rights
consumers and the relief open to them in case they did not get their money’s worth of goos
services has rightly been identified as the first priority.

While this may not be a difficult task in urban areas, where the movement is concentr;
present, taking it to the vast rural hinterland calls for a multi-media approach in which rad
television have a crucial role to play. The involvement of the 500-odd consumer organizations
country in publicising the concept of fair trade practices and the remedies available agains
violation will prove rewarding, if the message is conveyed through village bodies. Gover
efforts remain confined at best to setting up the infrastructure after the formal launch of the mov
with the enactment of the Consumer Protection Act. The mounting backlog of cases in con
courts, points to the need for toning up the district level redressal machinery.

SubQuestion No : 48

Q.48
Government contributed to the consumer protection movement by :

(1) toning up a district level machinery

(2) cleaning the backlog cases in the consumer court
(3) setting up requisite infrastructure

(4) enactment of the consumer protection Act

Question Type : MCQ
Question ID : 42558912010
Option 1 ID : 42558946744
Option 2 ID : 42558946745
Option 3 ID : 42558946746
Option 4 ID : 42558946747

Status : Answered

Chosen Option : 3

L |
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Comprehension: I

Read the following passage and answer the questions :

The stock-taking done at the first national convention on Consumer Protection ser
highlight the areas that called for special attention to sustain the momentum of the moven
genuine forum for safeguarding the people’s interests. Spreading awareness about the rights
consumers and the relief open to them in case they did not get their money’s worth of goos
services has rightly been identified as the first priority.

While this may not be a difficult task in urban areas, where the movement is concentr;
present, taking it to the vast rural hinterland calls for a multi-media approach in which rad
television have a crucial role to play. The involvement of the 500-odd consumer organizations
country in publicising the concept of fair trade practices and the remedies available agains
violation will prove rewarding, if the message is conveyed through village bodies. Gover
efforts remain confined at best to setting up the infrastructure after the formal launch of the mov
with the enactment of the Consumer Protection Act. The mounting backlog of cases in con
courts, points to the need for toning up the district level redressal machinery.

SubQuestion No : 49 I

Q.49
What, according to the author, will prove rewarding with reference to consumer protection ?

(1) Remedies against the violation of fair trade practices
(2) Setting up more and more Lok Adalats

(3) Weekly campaign for bringing awareness

(4) Rigorous punishment to the erring officials

Question Type : MCQ
Question ID : 42558912011
Option 1 ID : 42558946748
Option 2 ID : 42558946749
Option 3 ID : 42558946750
Option 4 ID : 42558946751

Status : Answered

Chosen Option : 2

L |
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Comprehension: I

Read the following passage and answer the questions :

The stock-taking done at the first national convention on Consumer Protection ser
highlight the areas that called for special attention to sustain the momentum of the moven
genuine forum for safeguarding the people’s interests. Spreading awareness about the rights
consumers and the relief open to them in case they did not get their money’s worth of goos
services has rightly been identified as the first priority.

While this may not be a difficult task in urban areas, where the movement is concentr;
present, taking it to the vast rural hinterland calls for a multi-media approach in which rad
television have a crucial role to play. The involvement of the 500-odd consumer organizations
country in publicising the concept of fair trade practices and the remedies available agains
violation will prove rewarding, if the message is conveyed through village bodies. Gover
efforts remain confined at best to setting up the infrastructure after the formal launch of the mov
with the enactment of the Consumer Protection Act. The mounting backlog of cases in con
courts, points to the need for toning up the district level redressal machinery.

SubQuestion No : 50

Q.50
Ensmmg consumer Protection in rural areas requires :

(1)  Establishing rural courts

(2) Use of different media

(3) Increasing lok-adalats

(4) Empowering the Panchayats

Question Type : MCQ
Question ID : 42558912012
Option 1 ID : 42558946752
Option 2 ID : 42558946753
Option 3 ID : 42558946754
Option 4 ID : 42558946755

Status : Answered

Chosen Option : 4

L |
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**" Match List - I with List - II :
List - I List - II
Item Concept
A. Furniture L. Process costing
B. Cement II.  Job costing
C. Petroleum III.  Output costing
D. Interior Decoration IV. Operating costing

Choose the correct answer from the options given below :
(1) A-L B-II, C-1II, D-IV
(2) A-1V, B-llI, C-II, D-I
(3) A-II, B-II, C-I, D-IV
(4) A-II, B-I, C-III, D-IV

Question Type : MCQ
Question ID : 42558912094
Option 1 1D : 42558947080
Option 2 ID : 42558947081
Option 3 ID : 42558947082
Option 4 ID : 42558947083

Status : Answered

Chosen Option : 4

L |

||
e Which of the following are characteristics of a Normal probability distribution ?

A.  The two tails of normal curve extend to infinity in both directions and never touch hori
axis.

Normal curve is symmetrical around vertical line.
The values of mean, median and mode are equal.
Mean and variance of the distribution are equal.

moNw

Mean and standard deviation are equal.

Choose the correct answer from the options given below :
(1) A, B,DOnly

(2) C,D,E Only

(3) A, B, EOnly

(4) A, B,COnly

Question Type : MCQ
Question ID : 42558912083
Option 1 ID : 42558947036
Option 2 ID : 42558947037
Option 3 ID : 42558947038
Option 4 ID : 42558947039

Status : Answered

Chosen Option : 3

L |
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Q.53
Idle capacity costs due to avoidable causes are transferred to which of the foll
heads/accounts ?
(I) Prime Cost
(2) Factory Overhead
(3) Cost of Production
(4) Costing Profit and Loss A/c
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912026
Option 11D : 42558946808
Option 2 ID : 42558946809
Option 3 ID : 42558946810
Option 4 ID : 42558946811
Status : Answered
Chosen Option : 1
T
Q.54
Which of the following are implications of e-HRM ?
A. PERT
B. CPM
C. Recruitment
D. Selection
E. Training
Choose the correct answer from the options given below :
(1) C,D,E Only
(2) A, B, COnly
(3) B,C, DOnly
(4) A, B, EOnly
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912072
Option 1 1D : 42558946992
Option 2 ID : 42558946993
Option 3 ID : 42558946994
Option 4 ID : 42558946995

Status : Answered

Chosen Option : 1
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*® Match List - I with List - 1L :
List - I List - II
Ratio Purpose
A.  Liquidity L Assessing the operating performance
B.  Activity Il.  Assessing the ability to meet maturing obligation
C.  Profitability III.  Assessing the effectiveness of utilization of assets
D. Debt IV. Assessing the management of fixed financial chang

Choose the correct answer from the options given below :
(1) A-II BII, C-I, D-IV
(2 A-L B-II, C-1II, D-IV
(3) A-IN, B-1, C-IV, D-II
(4) A-1V, B-llI, C-II, D-I

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912093
Option 1 ID : 42558947076
Option 2 ID : 42558947077
Option 3 ID : 42558947078
Option 4 ID : 42558947079
Status : Answered
Chosen Option : 3
T
Q.56 d )
Arrange the steps of creative process for an idea.
A.  Preparation
B. Incubation
C. Germination
D. Verification
E. [Ilumination

Choose the correct answer from the options given below :
1) AB:C D, E
(2 € AB'ED
3 EDCBA
4 CB ADE

Question Type : MCQ
Question ID : 42558912067
Option 1 ID : 42558946972
Option 2 ID : 42558946973
Option 3 ID : 42558946974
Option 4 ID : 42558946975

Status : Answered

Chosen Option : 1

L |
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Q.57
Receipts of interest on foreign investments and royalties on trade marks held abroad are re.
in which of the following part of the Balance of Payment ?
(1) Balance of Trade
(2) Capital Account
(3) Balance of Invisibles
(4) Official Reserves Account
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912046
Option 11D : 42558946888
Option 2 ID : 42558946889
Option 3 ID : 42558946890
Option 4 ID : 42558946891
Status : Answered
Chosen Option : 4
|
Q.58 -
The error arising from the treatment of revenue expenditure as capital expenditure and vice
is termed as :
(1)  Error of Omission
(2)  Error of Principle
(3)  Error of Compensation
(4) Error of Recognition
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912025
Option 1 1D : 42558946804
Option 2 ID : 42558946805
Option 3 ID : 42558946806
Option 4 ID : 42558946807

Status : Answered

Chosen Option : 2
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Q.59
® Which of the followings are the examples of current liabilities :

A. Current investments
B.  Short-term borrowings
C.  Bills receivables

D.  Bills payables

E.

Accrued income

Choose the correct answer from the options given below :
(1) A and E Only

(2) Band DOnly

(3) CandE Only

(4) A and C Only

Question Type : MCQ
Question ID : 42558912077
Option 1 ID : 42558947012
Option 2 ID : 42558947013
Option 3 ID : 42558947014
Option 4 ID : 42558947015

Status : Answered

Chosen Option : 2

L |

o Arrange the following steps of buyer decision making.

Information research
Evaluation of alternatives
Need recognition
Purchase decision

moNwp

Post purchase behaviour

Choose the correct answer from the options given below :
(1) AgB, G\D,IE

2 CAEDE

3 ACDEB

4 BAD,CE

Question Type : MCQ
Question ID : 42558912063
Option 1 ID : 42558946956
Option 2 ID : 42558946957
Option 3 ID : 42558946958
Option 4 ID : 42558946959

Status : Answered

Chosen Option : 2

L |
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Q.61
General statements that guide or channelize thinking in decision making are :
(1) Policies
(2) Goals
(3) Strategy
(4) Rules
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912014
Option 1 ID : 42558946760
Option 2 ID : 42558946761
Option 3 ID : 42558946762
Option 4 ID : 42558946763
Status : Answered
Chosen Option : 2
T
Q.62 =
A relatively large, low cost, high volume, self-service operation designed to serve the cons
needs for household products is :
(I) Department Store
(2) Convenience Store
(3) Super Store
(4) Super Market
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912039
Option 1 1D : 42558946860
Option 2 ID : 42558946861
Option 3 ID : 42558946862
Option 4 ID : 42558946863

Status : Answered

Chosen Option : 4
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o Arrange the stages of group development in proper sequence.
A. Performing
B.  Norming
C. Storming
D. Forming
E.  Adjourning

Choose the correct answer from the options given below :
(1) ABCDE
@ BCDEA
3 CDEAB
4 D,CBAE

Question Type : MCQ
Question ID : 42558912055
Option 1 ID : 42558946924
Option 2 ID : 42558946925
Option 3 ID : 42558946926
Option 4 ID : 42558946927

Status : Answered

Chosen Option : 4

|

aet Which of the following are not directly financing small scale industries ?

Small Industries Development Bank of India (SIDBI)

World Bank

Industrial Development Bank of India (IDBI)

International Monetary Fund (IMF)

National Small Industries Corporation Ltd. (NSIC)

Choose the most appropriate answer from the options given below :
(1) B,Cand D Only

(2) A and B Only

(3) A and C Only

(4) A and E Only

moNwp

Question Type : MCQ
Question ID : 42558912087
Option 1 1D : 42558947052
Option 2 ID : 42558947053
Option 3 ID : 42558947054
Option 4 ID : 42558947055

Status : Answered

Chosen Option : 1
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Q.65

=
Which of the following is the condition where x* (chi-square) should not be applied ?

(1) If there are only two cells, expected frequency in each cell should be 5 or more.

(2) Samples of at least 50 observations must be drawn randomly from the population.

(3)  If number of cells are more than two and more than 20% of the cells have expected frequ

less than 5.
(4) Data should be expressed in original units rather than ratio or percentage.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912041
Option 1 ID : 42558946868
Option 2 ID : 42558946869
Option 3 ID : 42558946870
Option 4 ID : 42558946871
Status : Answered
Chosen Option : 1
T
| |
Q.66 " ) .
Match List - I with List - II :
List - I List - II
Methods Description

Net present value
Internal rate of return
Profitability index
Payback period

oN @

E
I1.
[I1.

IV.

Ratio of PV of inflows to investment
Rate where NPV = 0

Present value of inflows — Present value of outfloy

Time to recover initial cost

Choose the correct answer from the options given below :

(1) A-II, B-11, C-I, D-IV
(2) A-l B-II, C-1II, D-IV
(3) A-II, B-1V, C-1I, D-1
(4) A-IL B, C-IV, D-lII

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

McQ
42558912096
42558947088
42558947089
42558947090
42558947091
Answered

1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.67
Which of the following Acts were meant for labour welfare ?
A.  The Factory Act, 1948
B.  The Employee Insurance Act, 1948
C.  The Payment of Gratuity Act, 1972
D. The Consumer Protection Act, 2019
E. The Companies Act, 2013
Choose the correct answer from the options given below :
(1) A, Band COnly
(2) C, D andE Only
(3) A, Cand D Only
(4) C, D, and A Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912073
Option 1 1D : 42558946996
Option 2 ID : 42558946997
Option 3 1D : 42558946998
Option 4 ID : 42558946999
Status : Answered
Chosen Option : 1
|
Q.68
Expatriates are :
(I) Noncitizens of the countries in which employee are working
(2) Host Country Nationals
(3) Home Country Nationals
(4) Third Country Nationals
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912022
Option 1 ID : 42558946792
Option 2 ID : 42558946793
Option 3 ID : 42558946794
Option 4 ID : 42558946795

Status : Answered

Chosen Option : 2

L |
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Q.69

Which of the following behaviour corresponds to the statement “Discretionary behaviot
contributes to the psychological and social environment of the workplace” ?

(1)

Individual Behaviour

Group Behaviour

Organizational Citizenship Behaviour
Group Dynamics

Question Type : MCQ
Question ID : 42558912019
Option 1 ID : 42558946780
Option 2 ID : 42558946781
Option 3 ID : 42558946782
Option 4 ID : 42558946783

Status : Answered

Chosen Option : 2

.
*" Which of the followings are the types of personality according to Holland’s Typology ?

A.  Realistic

B.  Investigative

C. Social

D. Extrovert

E. Introvert

Choose the correct answer from the options given below :

(1) C,DandE Only

(2) B,CandD Only

(3) A, Band C Only

(4) D, E and B Only

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 42558912070
Option 1 ID : 42558946984
Option 2 ID : 42558946985
Option 3 ID : 42558946986
Option 4 ID : 42558946987

Status : Answered

Chosen Option : 1
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Q.7
Arrange the following steps in the correct logical sequence to explain how indifference cury
derived ?
A.  The consumer plots combination of goods that provide the same satisfaction
B. The consumer ranks preferences over combination of two goods
C. A downward-sloping, convex indifference curve is formed
D.  The consumer reaches equilibrium where the budget line is tangent to the indifference
Choose the correct answer from the options given below :
1) ABCD
2 BACGCD
3) ACBD
4 D,B AC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912053
Option 1 ID : 42558946916
Option 2 ID : 42558946917
Option 3 ID : 42558946918
Option 4 ID : 42558946919
Status : Answered
Chosen Option : 2
T
Q.72 . . . - .
Arrange the steps in rational decision making.
A. Evaluate the alternatives
B.  Develop the alternatives
C.  Allocate weights to the criteria
D. Identify the decision criteria
E. Define the problem
Choose the correct answer from the options given below :
(1) E/MD,C B &
2 A BC D, E
3 9BCDERAR
4 CDEAB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912056
Option 1 ID : 42558946928
Option 2 ID : 42558946929
Option 3 ID : 42558946930
Option 4 ID : 42558946931
Status : Answered
Chosen Option : 1
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Q.73
Encouraging customer switching to a brand is :
(I) Sales Promotion
(2) Publicity
(3) Informative Advertising
(4) Persuasive Advertising
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912035
Option 11D : 42558946844
Option 2 ID : 42558946845
Option 3 ID : 42558946846
Option 4 ID : 42558946847
Status : Answered
Chosen Option : 4
||
Q.74 - - . . .
Which of the following is NOT a part of 4Ps of the marketing mix ?
(I) Product
(2) Price
(3) Place
(4) Producer services
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912037
Option 1 ID : 42558946852
Option 2 ID : 42558946853
Option 3 1D : 42558946854
Option 4 ID : 42558946855
Status : Answered
Chosen Option : 4
|
Q.75 ; ot
Which of the following is not the advantage of merger ?
(I) Increased Market Share
(2)  Synergy
(3) Diversification
(4) Increased Competition
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912032
Option 1 ID : 42558946832
Option 2 ID : 42558946833
Option 3 ID : 42558946834
Option 4 ID : 42558946835

Status : Answered

Chosen Option : 4
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Q76
Finance function involves :
(1) Procurement of finance only
(2) Expenditure of funds only
(3) Safe custody of funds only
(4) Procurement and effective utilization of funds
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912028
Option 1 ID : 42558946816
Option 2 ID : 42558946817
Option 3 ID : 42558946818
Option 4 ID : 42558946819
Status : Answered
Chosen Option : 4
T
Q.77 =
" Which of the following is characterized by the use of small, intermittent assault on different 1
segments held by the competitors ?
(I) Encirclement
(2) Flanking Maneuver
(3) Guerrilla Warfare
(4) Frontal Assault
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912033
Option 1 1D : 42558946836
Option 2 ID : 42558946837
Option 3 ID : 42558946838
Option 4 ID : 42558946839
Status : Answered
Chosen Option : 3
|
Q.78 ; ) =
According to MM theory, the market price of the share will :
(I) Changes after the payment of dividend.
(2) Changes after payment of interest and tax.
(3) Will change due to market fluctuations.
(4) Remains unchanged even after the payment of dividend.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912031
Option 1 ID : 42558946828
Option 2 ID : 42558946829
Option 3 ID : 42558946830
Option 4 ID : 42558946831

Status : Answered

Chosen Option : 3

L |
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Q.79
Match List - I with List - II :
List - I List - II
Theory Description
A.  Trait theory of leadership I. Focuses of followers readiness
B.  Behavioural theory of leadership II.  Stress unfavourly affects a situation th
reduce influence of the leader
C. Cognitive resource theory III.  Specific behaviour differentiates leaders
non leaders
D. Situational leadership theory IV. Personal qualities and characteristics t}
differentiates from non leaders
Choose the correct answer from the options given below :
(1) A-I B-II, C-III, D-1IV
(2) A-1V, B-lII, C-1I, D-1
(3) A-II, B-I, C-1V, D-II
(4) A-1V, B-II, C-I, D-1II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912090
Option 11D : 42558947064
Option 2 ID : 42558947065
Option 3 ID : 42558947066
Option 4 ID : 42558947067
Status : Answered
Chosen Option : 2
T
Q.80 =
Extending an existing brand name to new forms, colours, sizes or flavours of an existing p
category is :
(I) Co-branding
(2) Line extension
(3) Brand extension
(4) Brand sponsorship
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912040
Option 1 ID : 42558946864
Option 2 ID : 42558946865
Option 3 ID : 42558946866
Option 4 ID : 42558946867
Status : Answered
Chosen Option : 3
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Q.81
Arrange the process of capital budgeting in proper sequence.
A.  Identification of potential investment opportunities
B. Decision making
C.  Assembling of proposed investments
D. Preparation of capital budget and appropriation
E.  Implementation
Choose the correct answer from the options given below :
(1) BACD,E
2 EACBD
3 D,B.AEC
4 A CBDE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912060
Option 1 ID : 42558946944
Option 2 ID : 42558946945
Option 3 ID : 42558946946
Option 4 ID : 42558946947
Status : Answered
Chosen Option : 4
T
Q.82 |
Arrange the following five steps of resource-based approach to strategy analysis proposed by
A. Identify resource gaps and invest in upgrading weaknesses.
B. Select the strategy that best exploits the firms’ capabilities relative to external opport
C. Appraise the profit potential of these capabilities in terms of their potential for suste
competitive advantage.
D. Combine the firm’s strength into specific capabilities.
E.  Identify and classify the firm’s resources in terms of strength and weaknesses.
Choose the correct answer from the options given below :
(1) G BDRE A,B
2 BACDE
® A,BCDE
4 ED,CBA
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912062
Option 1 ID : 42558946952
Option 2 ID : 42558946953
Option 3 ID : 42558946954
Option 4 ID : 42558946955

Status : Answered

Chosen Option : 3

L |
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Q.83
Which of the followings imply Flat Organisation ?

High level of Decentralization
Narrow span of control

Impersonality
Less extended communication lines

mo0®p

Distance from top to bottom

Choose the correct answer from the options given below :
(1) A, Band C Only

(2) B,CandD Only

(3) A, DandE Only

(4) A and D Only

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558912054
Option 1 ID : 42558946920
Option 2 ID : 42558946921
Option 3 ID : 42558946922
Option 4 ID : 42558946923
Status : Answered
Chosen Option : 3
T
| |
Q.84 . < y
Match List - I with List - II :
List - I List - 11
Item Description
A. Par value | B Specified interest rate
B.  Maturity period II.  Number of years after which the value is payable tc
holders
C. Coupon rate III.  Amount by which a bond sells at a value higher th
par value
D. Premium IV. Value on the face of the bond

Choose the correct answer from the options given below :
(1) A-II, B-I, C-1V, D-II
(2) A-IL, B-IV, C-1, D-1II
(3) A-IL B-IV, C-II, D-1I
(4) A-1V, B-1I, C-1, D-1II

Question Type : MCQ
Question ID : 42558912095
Option 1 ID : 42558947084
Option 2 ID : 42558947085
Option 3 ID : 42558947086
Option 4 ID : 42558947087

Status : Answered

Chosen Option : 4
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Q.85
Which of the following is the right sequence of Employability Skills Matrix (ESM) ?
(1) Critical thinking, Communication, Collaboration, Knowledge and Social responsibilil
(2) Communication,Collaboration, Knowledge, Social responsibility and Critical thinkin
(3) Collaboration, Knowledge, Social responsibility, Critical thinking and Communicatic
(4) Knowledge, Social responsibility, Critical thinking, Communication and Collaboratic
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912017
Option 1 ID : 42558946772
Option 2 ID : 42558946773
Option 3 ID : 42558946774
Option 4 ID : 42558946775
Status : Answered
Chosen Option : 1
|
Q.86 |
Arrange the following steps in the correct sequence in the budgetary control system.
A.  Preparation of budgets for different departments.
B.  Comparison of actual performance with budgeted figures
C.  Establishment of objectives and budget key factors
D.  Analysis of variances
E.  Taking correlative actions

Choose the correct answer from the options given below :
(1) C,B.D .AE
@ CABDE
3 CBAD,E
4 ACD,BE

Question Type : MCQ
Question ID : 42558912058
Option 1 1D : 42558946936
Option 2 ID : 42558946937
Option 3 ID : 42558946938
Option 4 ID : 42558946939

Status : Answered

Chosen Option : 2
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Q.87
Which of the following is not a basis for behavioural segmentation ?

Purchase Occasion

Digital Divide

Usage rate of the product
Benefit sought from the product

mo0®p

Lifestyle of consumer

Choose the most appropriate answer from the options given below :
(I) A, Band D Only

(2) Band COnly

(3) A and E Only

(4) BandE Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912079
Option 1 ID : 42558947020
Option 2 ID : 42558947021
Option 3 ID : 42558947022
Option 4 ID : 42558947023
Status : Answered
Chosen Option : 1
T
| |
Q.88 . ) .
Match List - I with List - II :
List - I List - II
Term Description
A.  Monopoly I. Free entry and exit
B.  Perfect competition II.  Single seller and no close substitute
C.  Monopolistic competition III.  Differentiated products and many sellers
D. Oligopoly IV. Strategic interdependence among firms

Choose the correct answer from the options given below :
(1) A-L B-II, C-1II, D-IV
(2) A-IL, B, C-III, D-IV
(3) A-II, B-1V, C-I, D-II
(4) A-II, B-1I, C-1V, D-1

Question Type : MCQ
Question ID : 42558912089
Option 1 ID : 42558947060
Option 2 ID : 42558947061
Option 3 ID : 42558947062
Option 4 ID : 42558947063

Status : Answered

Chosen Option : 2

L |
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Q.89 -
A barrier to the matching of expected and perceived service levels caused by the unwilling:
services providers to provide the necessary resources is :
(I) Misconception barrier
(2) Inadequate resources barrier
(3) Inadequate delivery barrier
(4) Exaggerated promise’s barrier
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912038
Option 11D : 42558946856
Option 2 ID : 42558946857
Option 3 ID : 42558946858
Option 4 ID : 42558946859
Status : Answered
Chosen Option : 4
|
Q.90 r !
Real-factor demand-pull inflection can be caused by :
A.  Increase in investment
B.  Decrease in consumer demand
C. Decrease in imports given the exports
D. Decrease in exports given the imports
E.  Decrease in government expenditure without change in tax revenue.
Choose the correct answer from the options given below :
(I) BandE Only
(2) Eand B Only
(3) A and C Only
(4) A andD Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912069
Option 1 ID : 42558946980
Option 2 ID : 42558946981
Option 3 ID : 42558946982
Option 4 ID : 42558946983

Status : Answered

Chosen Option : 3
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Q.91
Advantages of decentralization are :

No duplication of efforts or resources.

Reduces problem of communication and red tape.

Strong central leadership develops which may required in crisis.
Coordination of activities of subordinates are better achieved.

mo0®p

Ensures the development of employees.

Choose the correct answer from the options given below :
(1) Cand D Only

(2) BandE Only

(3) D and E Only

(4) A and E Only

Question Type : MCQ
Question ID : 42558912068
Option 1 ID : 42558946976
Option 2 ID : 42558946977
Option 3 ID : 42558946978
Option 4 ID : 42558946979

Status : Answered

Chosen Option : 1

|

| |
e When NPV and IRR give different rankings, which of the following problem is the cause of dis

that arises when the initial investment in mutually exclusive projects is different ?
(I) Time-Disparity Problem
)  Size-Disparity Problem
(3) Unequal Expected Lives
)

Conventional Equivalent Problem

Question Type : MCQ
Question ID : 42558912029
Option 1 ID : 42558946820
Option 2 ID : 42558946821
Option 3 ID : 42558946822
Option 4 ID : 42558946823

Status : Answered

Chosen Option : 2
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Q.93

Which of the following assumptions are central to the pecking order theory of capital struc

Managers have more information about their firm’s value than investors
Asymmetric information exist between managers and the investors
Issuing equity indicates that the current share price is overvalued

Firms always aim for well-defined debt equity target

mo0®p

Equity is cheaper than debt as free source of raising finance
Choose the correct answer from the options given below :

(1) A, D, EOnly

(2) A, B,COnly

(3) A, B, EOnly

4) A, C DOnly

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912074
Option 1 ID : 42558947000
Option 2 ID : 42558947001
Option 3 ID : 42558947002
Option 4 ID : 42558947003
Status : Answered
Chosen Option : 1
-
Q.94 : = z .
Which one of the following is not the HR audit ?
(I) Job Descriptions
(2) Recruitment and Selection
(3) Mandated Benefits
(4) Balanced Scorecard
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912024
Option 1 1D : 42558946800
Option 2 ID : 42558946801
Option 3 ID : 42558946802
Option 4 ID : 42558946803
Status : Answered
Chosen Option : 3
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Q.95
Which transactions are classified as operating activities ?

Sold manufacturing plant
Collected bills receivables from customers
Purchase of building

Paid to suppliers

mo0®p

Issued equity shares at a premium

Choose the most appropriate answer from the options given below :
(I) A and C Only

(2) Band COnly

(3) Band D Only

(4) A and E Only

Question Type : MCQ
Question ID : 42558912076
Option 1 ID : 42558947008
Option 2 ID : 42558947009
Option 3 ID : 42558947010
Option 4 ID : 42558947011

Status : Answered

Chosen Option : 3

|

Q.96

Which of the following are direct sellers in India ?
Herbalife International India

Lakme products India

Modicare

Amway India enterprises

Avon beauty products India

Choose the most appropriate answer from the options given below :
(1) A B, C.D,E

(2) A, CD,E Only

(3) A, B,C,D Only

4 A D,C EOnly

moNwp

Question Type : MCQ
Question ID : 42558912082
Option 1 1D : 42558947032
Option 2 ID : 42558947033
Option 3 ID : 42558947034
Option 4 ID : 42558947035

Status : Answered

Chosen Option : 4

L |
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Q.97

When the responsibility, scope and challenges in work is deliberately upgraded, it is know:
(1) Job Description

(2) Job Enrichment

(3) Job Rotation

(4) Job Assignment

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912013
Option 1 ID : 42558946756
Option 2 ID : 42558946757
Option 3 ID : 42558946758
Option 4 ID : 42558946759
Status : Answered
Chosen Option : 2
T
| |
Q.98 . ) .
Match List - I with List - II :
List - I List - II
Data tool Applications
A. OLAP L. Breaks a big data problem down into sub-problem:
distributes them among upto thousands of
inexpensive computer processing nodes, and
that combines result into smaller datasets
B.  Hadoop I1.  Findshidden pattern inlarge data bases and inferrin
from them to predict future behaviour
C. Data mart III. A summarized or highly focused portion of organiz
database is placed for a seperate database for a s
population of users
D. Data mining IV. Supports multidimensional data and enables users t

the same data in different ways using multiple dime
Choose the correct answer from the options given below :
(1) A-L B-II, G-IV, D-III
(2) A-lI, B-1V, C-II, D-1
(3) A-IV, B-I, CII, D-II
(4) A-II BII, C-I, D-IV

Question Type : MCQ
Question ID : 42558912101
Option 1 ID : 42558947108
Option 2 ID : 42558947109
Option 3 ID : 42558947110
Option 4 ID : 42558947111

Status : Answered

Chosen Option : 2

L |
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Q.99

Match List - I with List - II :

List - I
Concept
Personnel management

Human Resource management
Industrial relation

International HRM

[IIL.

IV.

List - II
Description

Focuses on proﬁt maximization by contributi
the people

Managing employee, employer relations amic
Managing Human resource challenges of
international operations

Developing attitude of the people for their be
contribution

Choose the correct answer from the options given below :

(1)
(2)
()
(4)

Options 1. 1
2.2
3.3
4.4

A-I1, B-II, C-1V, D-I
A-1, B-1I, C-11I, D-IV
A-1, B-1V, CII, D-11I
A-1V, B-1II, C-1I, D-1

Question Type : MCQ
Question ID : 42558912092
Option 11D : 42558947072
Option 2 ID : 42558947073
Option 3 ID : 42558947074
Option 4 ID : 42558947075

Status : Answered

Chosen Option : 3

|

Q.100

Type II error occurs when :

(1)
(2)
(3)
4)

H, (Null hypothesis) is true and is accepted

H, (Null hypothesis) is true and is rejected

H, (Null hypothesis) is false and is accepted
H_(Alternate hypothesis) is false and is rejected

Question Type : MCQ
Question ID : 42558912043
Option 1 ID : 42558946876
Option 2 ID : 42558946877
Option 3 ID : 42558946878
Option 4 ID : 42558946879

Status : Answered

Chosen Option : 3
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Q.101

Which of the following is not a non-probability method of selecting samples from a popula

(1)

Judgement sampling

(2) Convenience sampling
(3) Multistage sampling
(4) Purposive sampling
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912044
Option 1 D : 42558946880
Option 2 ID : 42558946881
Option 3 ID : 42558946882
Option 4 ID : 42558946883
Status : Answered
Chosen Option : 2
T
| |
Q.102 " ) .
Match List - I with List - II :
List - I List - II
Term Description
A. Transparency L. Protection of stakeholder’s interests
B. Accountability II. Clear and accurate disclosure of material facts
C.  Responsibility III.  Answerability for decision and actions
D. Fairness IV. Ethical conduct and compliance with law
Choose the correct answer from the options given below :
(1) A-IIL B-II, C-IV, D-1
(2) A-I, B-1I, C-1, D-IV
(3) A-IL B, C-lII, D-1V
4) A-1V, B-II, C-1, D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912088
Option 1 ID : 42558947056
Option 2 ID : 42558947057
Option 3 ID : 42558947058
Option 4 ID : 42558947059
Status : Answered
Chosen Option : 2
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Q.103
Arrange the steps involved in the case-based reasoning

System finds closest fit and retrieves solution

System asks user additional questions to narrow search
System modifies the solution to better fit the problem and got successful
System searches data base for similar cases

mo0®p

User describes the problem

Choose the correct answer from the options given below :
(1) D,B,ACE

2 EBDAC

3 ED,B.AC

4 BACED

Question Type : MCQ
Question ID : 42558912066
Option 1 ID : 42558946968
Option 2 ID : 42558946969
Option 3 ID : 42558946970
Option 4 ID : 42558946971

Status : Answered

Chosen Option : 2

|

Q.104
Sequence the following activities in the process of standard costing.

Establishing standard cost

Measurement of actual cost

Identifying variance and causes of variance
Disposing the variance to cost and profit centres
Comparison of actual and standard costs

Choose the correct answer from the options given below :
(1) A/B EC.D

2 ABECD, E

3 ABEDC

4 ABD,CE

moNwp

Question Type : MCQ
Question ID : 42558912059
Option 1 1D : 42558946940
Option 2 ID : 42558946941
Option 3 ID : 42558946942
Option 4 ID : 42558946943

Status : Answered

Chosen Option : 1

L |
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Q.105
Match List - I with List - II :
List - I List - II
Theories Propounder
A. Hierarchy of need theory I.  Abraham Maslow
B.  Theory X and Theory Y II.  Douglas McGregor
C. Two factor theory IlI. Fedric Herzberg
D.  Expectancy theory IV.  Victor Vroom
Choose the correct answer from the options given below :
(1) A-I B-II, C-II, D-1IV
(2) A-1V, B-lII, C-1I, D-I
(3) A-IIL B-II C-1V, D-1
(4) A-II, B-1I, C-I, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912091
Option 1 1D : 42558947068
Option 2 ID : 42558947069
Option 3 ID : 42558947070
Option 4 ID : 42558947071
Status : Answered
Chosen Option : 3
|
n
Q.106
Match List - I with List - II :
List - I List - I
Term Description
A.  R-chart I.  Chart of averages to plot location values
B.  P-chart II.  Chart of variability to plot sample ranges
C.  X-chart III. Chart showing proportion of defectives per sample
D. C-chart IV. Chart showing number of defectives per item/unit
Choose the correct answer from the options given below :
(1) A-I B-II, C-II, D-IV
(2) A-L B-lII, C1V, D-II
(3) A-IL B-IL C-I, D-IV
(4) A-IV, B-lIl, C-II, D-I
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912100
Option 1 ID : 42558947104
Option 2 ID : 42558947105
Option 3 ID : 42558947106
Option 4 ID : 42558947107

Status : Answered

Chosen Option : 3

L |
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Q.107 -
Match List - I with List - I :
List - I List - II
Types Description
A.  Predatory pricing I. A geographical pricing strategy where seller desi
same city and charges all customers the freight cos
that city
B. Deceptive pricing II.  Where a firm reduces its prices with the aim of drivi
of competitions
C.  Price unbundling III.  When consumers are mislead by price deals offes
companies
D. Basing point pricing IV. Pricing each element in the offering so that the price

total package is raised
Choose the correct answer from the options given below :
(1) A-L B-II, C-III, D-IV
(2) A-IIL B-II, C-IV, D-1
(3) A-1V, B-II, C-II, D-I
(4) A-II, B-1I, G-I, D-IV

Question Type : MCQ
Question ID : 42558912097
Option 1 ID : 42558947092
Option 2 ID : 42558947093
Option 3 ID : 42558947094
Option 4 ID : 42558947095

Status : Answered

Chosen Option : 2

|

Q.108
Which of the following is not the type of start up firms ?

(1) Salary-substitute firms

)  Life style firms

(3) Entrepreneurial firms
) Ordinance firms

Question Type : MCQ
Question ID : 42558912052
Option 1 ID : 42558946912
Option 2 ID : 42558946913
Option 3 ID : 42558946914
Option 4 ID : 42558946915

Status : Answered

Chosen Option : 4

L |
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Q.109
Match List - I with List - II :
List - I List - II
Women Entrepreneur Enterprise
A. Richa Kar I Zivame
B. Kiran Mazumdar Shaw I1. Kamani Tubes
C. Kalpana Saroj IlI.  Biocon Limited
D. Falguni Nayar IV. Nykaa
Choose the correct answer from the options given below :
(1) A-I B-lI, CI, D-IV
(2) A-L B-II, C-1II, D-IV
(3) A-l B-lII, C1V, D-II
(4) A-lL B-IV, CI, D-1II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912102
Option 1 ID : 42558947112
Option 2 ID : 42558947113
Option 3 ID : 42558947114
Option 4 ID : 42558947115
Status : Answered
Chosen Option : 1
T
Q.110
Which one of the following is not the Central Trade Union of India ?
(1) INTUC
(2) The AFL-CIO
(3) CITU
(4) BMS
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912023
Option 1 ID : 42558946796
Option 2 ID : 42558946797
Option 3 ID : 42558946798
Option 4 ID : 42558946799

Status : Answered

Chosen Option : 4
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Q111
In designing an agent in Al, PEAS stands for :
(I) Performance, Environment, Actuators, Sensors
(2) Performance, Extractor, Actions, Security
(3) Problem, Effort, Action, Sensor
(4) Program, Environment, Architecture, Sensors
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912045
Option 1 ID : 42558946884
Option 2 ID : 42558946885
Option 3 ID : 42558946886
Option 4 ID : 42558946887
Status : Answered
Chosen Option : 3
T
| |
Q.112 . - - . . . .
Countries try to hold the value of their currencies within some range against an important ref
currency or a ‘basket’ of currencies, is referred to as :
(1) Dirty-float system
(2) Pegged exchange rate
(3) Fixed exchange rate
(4) Extended exchange facility
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912048
Option 1 1D : 42558946896
Option 2 ID : 42558946897
Option 3 ID : 42558946898
Option 4 ID : 42558946899
Status : Answered
Chosen Option : 3
|
Q.113 . " . x :
Which of the following is not essential for nurturing Intrapreneurs ?
(1) Building culture and climate
(2) Building Competence
(3) Building relationship
(4) Learning Sign language
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912049
Option 1 ID : 42558946900
Option 2 ID : 42558946901
Option 3 ID : 42558946902
Option 4 ID : 42558946903

Status : Answered

Chosen Option : 4
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Q.114
Which of the following is the example of Social Entrepreneurship ?
(1) PFL
(2) Sulabh International
(3) Hyundai
(4) HUL
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912050
Option 11D : 42558946904
Option 2 ID : 42558946905
Option 3 ID : 42558946906
Option 4 ID : 42558946907
Status : Answered
Chosen Option : 2
-
Q.115

The ‘Leontiff Paradox’ is in contradiction of which of the following theory ?
(I) Theory of Comparative Advantage

)  Factor Endowments Theory
(3) Theory of Absolute Advantage

) Neo-Mercantilism Theory

Question Type : MCQ
Question ID : 42558912047
Option 1 ID : 42558946892
Option 2 ID : 42558946893
Option 3 ID : 42558946894
Option 4 ID : 42558946895

Status : Answered

Chosen Option : 2

|



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q116

Match List - I with List - II :
List - I List - II
Description Term

A. Goodwill associated with a I Brand extension
brand name, which adds
tangible value and more
profits

B.  The use of an established II.  Brand authenticity
brand name as a new
brand within same brand
market

C.  The use of an established [II. Brand stretching
brand name for brands
in unrelated market

D. The extent to which IV. Brand equity
consumers perceive a brand
to be faithful to its essence

Choose the correct answer from the options given below :

(1) A-l, B-II, C-1II, D-IV

(2) A-IL B, C-1V, D-III

(3) A-IV, B-l, C-II, D-II

(4) A-1V, B-1II, C-1I, D-1

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558912098
Option 1 ID : 42558947096
Option 2 ID : 42558947097
Option 3 ID : 42558947098
Option 4 ID : 42558947099

Status : Answered

Chosen Option : 3
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Q7
Arrange the steps for calculating portfolio expected return.
A.  Multiply weight of each asset with its expected return
B. Add all the weighted return
C. Identifying weights of individual securities
D. Compute expected return of the portfolio
Choose the correct answer from the options given below :
(1) CA,BD
2 ABCD
3 CBAD
4 B ACD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912061
Option 1 1D : 42558946948
Option 2 ID : 42558946949
Option 3 ID : 42558946950
Option 4 ID : 42558946951
Status : Answered
Chosen Option : 1
|
Q.118 -
A channel structure in which producers, wholesalers and retailers act as a unified system i
(I) Conventional Distribution Channel
(2) Direct Marketing Channel
(3) Vertical Marketing System Channel
(4) Indirect Marketing Channel
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912036
Option 1 ID : 42558946848
Option 2 ID : 42558946849
Option 3 ID : 42558946850
Option 4 ID : 42558946851

Status : Answered

Chosen Option : 1

|
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Q.19
Which of the following is incorrect ?
(I) bxy =0.8, byx =0.8
(2) bxy=12 byx=12
(3) bxy =12, byx=0.8
(4) bxy =08, byx=12
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912042
Option 11D : 42558946872
Option 2 ID : 42558946873
Option 3 ID : 42558946874
Option 4 ID : 42558946875
Status : Answered
Chosen Option : 2
Q.120
Which of the following are components of Agile supply chain ?
A.  Virtual
B.  Market sensitive
C.  Pickup fulfillment
D.  Process integration
E.  Store based fulfillment
Choose the most appropriate answer from the options given below :
(1) A, B, C,DOnly
(2) A, B, DOnly
3) A C DOnly
(4) A B,CEOnly
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912081
Option 1 ID : 42558947028
Option 2 ID : 42558947029
Option 3 ID : 42558947030
Option 4 ID : 42558947031

Status : Answered

Chosen Option : 3

L |
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=
**' Which of the followings are the risks associated with the Generic competitive strategies sug

by Porter ?

A.  Risk of Human Resources

B.  Risk of Cost leadership

C. Risk of strategic rollup

D. Risk of differentiation

E.  Risk of focus

Choose the most appropriate answer from the options given below :
(1) A, C, D andE Only

(2) B, D and E Only

(3) B,C, Dand E Only

(4) A and B Only

Question Type : MCQ
Question ID : 42558912080
Option 1 ID : 42558947024
Option 2 ID : 42558947025
Option 3 ID : 42558947026
Option 4 ID : 42558947027

Status : Answered

Chosen Option : 3

L |

atz Arrange the steps in implementing an HRIS.

Inception of Idea
Feasibility study
Selecting a project team
Vendor analysis

monwp

Defining requirements

Choose the correct answer from the options given below :
(1) AsBEED,E

2 ABCED

3 BCDEA

4 CDEAB

Question Type : MCQ
Question ID : 42558912057
Option 1 ID : 42558946932
Option 2 ID : 42558946933
Option 3 ID : 42558946934
Option 4 ID : 42558946935

Status : Answered

Chosen Option : 2
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Q.123

Sequence the steps for Vogel's approximation method.

A,

moNw

Assign largest quantity as per rim requirements to the cell in the row /column with sr
cost.

Select largest difference of rows/columns

Find difference between the two unallocated least cost cells from each row and each ¢
Eliminate the row/column that has been satisfied

Check all rim requirement conditions are met

Choose the correct answer from the options given below :

(1)
(2)
)

C,B,A;, D E
A, B,CDE
ALC, D EB
C.A,. DB, E

Question Type : MCQ
Question ID : 42558912065
Option 1 ID : 42558946964
Option 2 ID : 42558946965
Option 3 ID : 42558946966
Option 4 ID : 42558946967

Status : Answered

Chosen Option : 3

L |

Q.124

Which of the following is NOT the characteristic of strategic decisions that deals with the lo
future of an entire organization ?

(1)

Invariability
Consequential
Rare

Directive

Question Type : MCQ
Question ID : 42558912034
Option 1 ID : 42558946840
Option 2 ID : 42558946841
Option 3 ID : 42558946842
Option 4 ID : 42558946843

Status : Answered

Chosen Option : 3

L |
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Q.125 : &, a -
Which one of the following is not the method of performance appraisal ?
(I) 360° Degree Appraisal
(20 MBO
(3) Halo effect
(4) BARS
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912021
Option 1 ID : 42558946788
Option 2 ID : 42558946789
Option 3 ID : 42558946790
Option 4 ID : 42558946791
Status : Answered
Chosen Option : 3
T
| |
Q.126

The Cost of Capital is :

(I) The fee required to sell stock using financial institution.

(2) The amount you pay to be an investor.

(3) The required rate of return to appease the supplier of a certain kind of funding to be u
in the organization.

(4) The sum required to finance a specific purchase.

Question Type : MCQ
Question ID : 42558912030
Option 1 1D : 42558946824
Option 2 ID : 42558946825
Option 3 ID : 42558946826
Option 4 ID : 42558946827

Status : Answered

Chosen Option : 4

L |
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Q127
Which of the following types of entrepreneurs are based on personality traits ?
A. Franchises
B. The real manager
C. The achiever
D. Industrial entrepreneur
E.  Owner-cum-manager
Choose the most appropriate answer from the options given below :
(1) A, B,COnly
(2) Band COnly
(3) B,C, DOnly
(4) CandE Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912086
Option 1 1D : 42558947048
Option 2 ID : 42558947049
Option 3 ID : 42558947050
Option 4 ID : 42558947051
Status : Answered
Chosen Option : 2
|
Q.128 -
Which of the following concept relates to the statement “A process by which individuals or
and interpret their sensory impressions to give meaning to their environment” ?
(1) Attitude
(2) Aptitude
(3) Perception
(4) Intuition
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912020
Option 1 ID : 42558946784
Option 2 ID : 42558946785
Option 3 ID : 42558946786
Option 4 ID : 42558946787

Status : Answered

Chosen Option : 3

|
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Q.129
Which one is not the form of discrimination ?
(I) Sexual Harassment
(2) Exclusion
(3) Intimidation
(4) Group Cohesiveness
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912018
Option 11D : 42558946776
Option 2 ID : 42558946777
Option 3 ID : 42558946778
Option 4 ID : 42558946779
Status : Answered
Chosen Option : 4
||
Q.130 : 5 oo 2 )
Which of the following is not a determinant of demand ?
(1) Price of Goods
(2) Consumer Income
(3) Cost of Production
(4) Consumer Preferences
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912016
Option 1 ID : 42558946768
Option 2 ID : 42558946769
Option 3 ID : 42558946770
Option 4 ID : 42558946771

Status : Answered

Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q131
Which of the following are the new organization structure ?
A.  The team structure
B.  The virtual structure
C. Boundary less structure
D. The Matrix structure
E.  The sample structure
Choose the correct answer from the options given below :
(1) A, B,COnly
(2) B,C,DOnly
(3) C,D,E Only
(4) A, B, EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912071
Option 1 1D : 42558946988
Option 2 ID : 42558946989
Option 3 ID : 42558946990
Option 4 ID : 42558946991
Status : Answered
Chosen Option : 2
|
Q.132 =
Which of the following statements are True ?
A.  Preference capital represents a hybrid form of financing.
B.  Preference capital carries definite legal obligation.
C.  Retained earnings represent the profits ploughed back in the business.
D. Disadvantages of equity capital are that it represents a permanent source of finance.
E.  Equity share holders do not have right to claim over assets in the event of liquidation
Choose the correct answer from the options given below :
(1) BandE Only
(2) A and C Only
(3) Band D Only
(4) A and C Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912075
Option 1 1D : 42558947004
Option 2 ID : 42558947005
Option 3 ID : 42558947006
Option 4 ID : 42558947007

Status : Answered

Chosen Option : 2
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Q133
Which of the following are methods of dispersion ?
A. Median
B. Mean
C. Mean deviation
D. Standard deviation
E. Range
Choose the correct answer from the options given below :
(I) A and E Only
(2) A, CandE Only
(3) B,CandD Only
(4) C,DandE Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912084
Option 1 1D : 42558947040
Option 2 ID : 42558947041
Option 3 ID : 42558947042
Option 4 ID : 42558947043
Status : Answered
Chosen Option : 4
T
Q134
Match List - I with List - II :
List - I List - II
Description Term
A.  The probability of both success I Binomial Distribution
and failure remains constant
B. The mean of distribution may [I.  Poission Distribution
be negative or positive
C.  The sum of all probabilities is III. Normal Distribution
equal to 1
D.  The probability of occurrence IV. Random Variable
of an outcome within a very
small time period is very small
Choose the correct answer from the options given below :
(1) A-I B-lII, C-IV, D-II
(2) A-L B-lI, C-lII, D-IV
(3) A-IV, B-II, C-II, D-1
(4) A-lI B, C-1V, D-1I
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912099
Option 1 ID : 42558947100
Option 2 ID : 42558947101
Option 3 ID : 42558947102
Option 4 ID : 42558947103

Status : Answered

Chosen Option : 1
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Q.135

-
Which ratio measures the amount that investors are willing to pay for each rupee of ear
where higher the ratio, the larger the investors confidence in the firm’s future ?

(1) Price/Earning Ratio

(2) Earning per Share
(3) Dividend Payout Ratio
(4) Return of Capital Employed
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912027
Option 11D : 42558946812
Option 2 ID : 42558946813
Option 3 ID : 42558946814
Option 4 ID : 42558946815
Status : Answered
Chosen Option : 3
|
|
Q.136

According to eclectic theory of foreign direct investment, foreign direct investment will oc
which of the following conditions when they are to be uniquely combined ?

Ownership
Location

Market power
Internationalization

mo0®p

Vertical integration

Choose the most appropriate answer from the options given below :
(1) B,C, Dand E Only

(2) A, C D andE Only

(3) D and E Only

(4) A, Band D Only

Question Type : MCQ
Question ID : 42558912085
Option 1 1D : 42558947044
Option 2 ID : 42558947045
Option 3 ID : 42558947046
Option 4 ID : 42558947047

Status : Answered

Chosen Option : 2

L |
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Q.137
Which of the following institute is not promoting entrepreneurship in India ?

(1) National Institute for Entrepreneurship and Small Business Development (NIESBUD

(2) Entrepreneurship Development Institute (EDI)
(3) Institute for Design of Electrical Measuring Instruments (IDEMI)
(4) National Small Industries Corporation (NSIC)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912051
Option 1 1D : 42558946908
Option 2 ID : 42558946909
Option 3 ID : 42558946910
Option 4 ID : 42558946911
Status : Answered
Chosen Option : 3
||
|
Q.138

Arrange the steps of designing a distribution logistics system.
A.  Finding out what the customers and channels want in product delivery

B.  Articulating the distribution objectives and prescribing the minimum service level to be e
in product delivery.

C.  Optimizing the costs of the system and tackling the cost-service tussle
D. Finding out what competitors do

E.  Providing for flexibility in the system

Choose the correct answer from the options given below :

(1) A, B,CD,E

2 BACDE

3 GCABED

4 BAD,CE

Question Type : MCQ
Question ID : 42558912064
Option 1 ID : 42558946960
Option 2 ID : 42558946961
Option 3 ID : 42558946962
Option 4 ID : 42558946963

Status : Answered

Chosen Option : 1
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Q.139
Find out the correct options from the following.

A future contract is custom designed.

Buying a put option is equivalent to buying insurance.

The cost of carry is not the cost of holding a security.

The difference between the spot price and the future price is called the basis.

mo0®p

An American option can be exercised only at its expiration date
Choose the most appropriate answer from the options given below :
(1) A and E Only

(2) Band D Only

(3) BandE Only

(4) A and C Only

Question Type : MCQ
Question ID : 42558912078
Option 1 ID : 42558947016
Option 2 ID : 42558947017
Option 3 ID : 42558947018
Option 4 ID : 42558947019

Status : Answered

Chosen Option : 4

|

Q.140
Cross elasticity of demand refers to :

(I) Change in demand due to change in price.
Change in demand due to change in income.

)
(3) Change in demand due to change in price of another goods.
) Change in demand due to less availability of goods.

Question Type : MCQ
Question ID : 42558912015
Option 1 ID : 42558946764
Option 2 ID : 42558946765
Option 3 ID : 42558946766
Option 4 ID : 42558946767

Status : Answered

Chosen Option : 3

L |



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

Comprehension: I

Read the following paragraph and answer the questions :

Teresa worked as a caregiver for years and when her husband passed away she was com;
lost. Fighting grief and housing instability, she turned into a junior assistant cum typist (JA
a university. She initially felt shame, wondering if she was worth anything. One day, her ¢
Officer made her as a “custodian’ for people and places. After that she felt noticed and appre
and so began 18 rewarding years in position.

This is the focal point of mattering - that feeling of being valued and recognition «
value. It's even more deeper than belonging and is critical to motivation, mental well-bein
retention. But currently, many employees feel invisible and undervalued, which le
disengagement, burnout and low morale. In spite of investments in the workplace, a “ma
deficit’ persists because mattering is constructed through everyday human interactions, not
or policies.

To engage mattering, leaders need to look and listen to their teams, notice difficulties
and ask substantive questions. Compassionate acts and follow-ups create trust. Affirming pe
strength, narrative and purpose reinforce their distinct value. Sharing impact stories, such ¢
JACT made spaces joyful, moves the purpose deeper. Individuals also believe that they
when they see how small efforts relate to larger goals -such as NASA employees connecting
they do to landing a man on moon. Essentially, building a culture of mattering means leac
consistently demonstrate to people they are noticed, heard, valued and required. Its easy
about in theory, but not common practice-but revolutionary when it is executed correctly.

SubQuestion No : 141 I
Q141
Which of the following statement is NOT supported by the passage ?
(1) Individuals remain longer in the work environment where they feel mattering.
(2) Perks alone can ensure emotional connection.
(3) Seeing and hearing employees can create profound trust.
(4) Mattering stems from human interactions, rather than policy.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912108
Option 1 ID : 42558947132
Option 2 ID : 42558947133
Option 3 ID : 42558947134
Option 4 ID : 42558947135

Status : Answered

Chosen Option : 2
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Comprehension: I

Read the following paragraph and answer the questions :

Teresa worked as a caregiver for years and when her husband passed away she was com;
lost. Fighting grief and housing instability, she turned into a junior assistant cum typist (JA
a university. She initially felt shame, wondering if she was worth anything. One day, her ¢
Officer made her as a “custodian’ for people and places. After that she felt noticed and appre
and so began 18 rewarding years in position.

This is the focal point of mattering - that feeling of being valued and recognition «
value. It's even more deeper than belonging and is critical to motivation, mental well-bein
retention. But currently, many employees feel invisible and undervalued, which le
disengagement, burnout and low morale. In spite of investments in the workplace, a “ma
deficit’ persists because mattering is constructed through everyday human interactions, not
or policies.

To engage mattering, leaders need to look and listen to their teams, notice difficulties
and ask substantive questions. Compassionate acts and follow-ups create trust. Affirming pe
strength, narrative and purpose reinforce their distinct value. Sharing impact stories, such ¢
JACT made spaces joyful, moves the purpose deeper. Individuals also believe that they
when they see how small efforts relate to larger goals -such as NASA employees connecting
they do to landing a man on moon. Essentially, building a culture of mattering means leac
consistently demonstrate to people they are noticed, heard, valued and required. Its easy
about in theory, but not common practice-but revolutionary when it is executed correctly.

SubQuestion No : 142 I

Q.142
What leadership behaviour most directly foster mattering in the long term, according
passage ?

(1) Awarding employees publicly during ceremonies.
(2) Setting regular one-on-one feedback sessions.

(3) Continually affirming employee’s purpose and distinctness within daily tasks.
(4) Awarding annual bonuses based on company profitability.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912106
Option 1 ID : 42558947124
Option 2 ID : 42558947125
Option 3 ID : 42558947126
Option 4 ID : 42558947127

Status : Answered

Chosen Option : 3

L |
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Read the following paragraph and answer the questions :

Teresa worked as a caregiver for years and when her husband passed away she was com;
lost. Fighting grief and housing instability, she turned into a junior assistant cum typist (JA
a university. She initially felt shame, wondering if she was worth anything. One day, her ¢
Officer made her as a “custodian’ for people and places. After that she felt noticed and appre
and so began 18 rewarding years in position.

This is the focal point of mattering - that feeling of being valued and recognition «
value. It's even more deeper than belonging and is critical to motivation, mental well-bein
retention. But currently, many employees feel invisible and undervalued, which le
disengagement, burnout and low morale. In spite of investments in the workplace, a “ma
deficit’ persists because mattering is constructed through everyday human interactions, not
or policies.

To engage mattering, leaders need to look and listen to their teams, notice difficulties
and ask substantive questions. Compassionate acts and follow-ups create trust. Affirming pe
strength, narrative and purpose reinforce their distinct value. Sharing impact stories, such ¢
JACT made spaces joyful, moves the purpose deeper. Individuals also believe that they
when they see how small efforts relate to larger goals -such as NASA employees connecting
they do to landing a man on moon. Essentially, building a culture of mattering means leac
consistently demonstrate to people they are noticed, heard, valued and required. Its easy
about in theory, but not common practice-but revolutionary when it is executed correctly.

SubQuestion No : 143

*™ What contributes to ‘mattering’ in the workplace ?

A.  Acts of compassion

B.  Personal connection

C.  Perks and policies

D. Daily human interactions

E.  Feel competition

Choose the most appropriate answer from the options given below :

(1) A, B, CandE Only

(2) B,Cand E Only

(3) A, Band D Only

(4) C, D andE Only
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ

Question ID : 42558912105
Option 1 ID : 42558947120
Option 2 ID : 42558947121
Option 3 ID : 42558947122
Option 4 ID : 42558947123
Status : Answered
Chosen Option : 3
|
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Read the following paragraph and answer the questions :

Teresa worked as a caregiver for years and when her husband passed away she was com;
lost. Fighting grief and housing instability, she turned into a junior assistant cum typist (JA
a university. She initially felt shame, wondering if she was worth anything. One day, her ¢
Officer made her as a “custodian’ for people and places. After that she felt noticed and appre
and so began 18 rewarding years in position.

This is the focal point of mattering - that feeling of being valued and recognition «
value. It's even more deeper than belonging and is critical to motivation, mental well-bein
retention. But currently, many employees feel invisible and undervalued, which le
disengagement, burnout and low morale. In spite of investments in the workplace, a “ma
deficit’ persists because mattering is constructed through everyday human interactions, not
or policies.

To engage mattering, leaders need to look and listen to their teams, notice difficulties
and ask substantive questions. Compassionate acts and follow-ups create trust. Affirming pe
strength, narrative and purpose reinforce their distinct value. Sharing impact stories, such ¢
JACT made spaces joyful, moves the purpose deeper. Individuals also believe that they
when they see how small efforts relate to larger goals -such as NASA employees connecting
they do to landing a man on moon. Essentially, building a culture of mattering means leac
consistently demonstrate to people they are noticed, heard, valued and required. Its easy
about in theory, but not common practice-but revolutionary when it is executed correctly.

SubQuestion No : 144

e Which of the following are least effective in producing a sense of mattering ?
A.  Providing health insurance benefits
B.  Changing uniform
C. Celebrating birthdays
D Ignoring JACT suggestion
E Weekly department meetings
Choose the most appropriate answer from the options given below :
(1) A, Band COnly
(2) D and E Only
(3) A and B Only
(4) A, B, CandE Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912107
Option 1 ID : 42558947128
Option 2 ID : 42558947129
Option 3 ID : 42558947130
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l Option 4 ID : 42558947131

Status : Answered
Chosen Option : 2
L |

Comprehension: I

Read the following paragraph and answer the questions :

Teresa worked as a caregiver for years and when her husband passed away she was comy
lost. Fighting grief and housing instability, she turned into a junior assistant cum typist (JA
a university. She initially felt shame, wondering if she was worth anything. One day, her ¢
Officer made her as a “custodian’ for people and places. After that she felt noticed and appre
and so began 18 rewarding years in position.

This is the focal point of mattering - that feeling of being valued and recognition «
value. It's even more deeper than belonging and is critical to motivation, mental well-bein
retention. But currently, many employees feel invisible and undervalued, which le
disengagement, burnout and low morale. In spite of investments in the workplace, a ‘ma
deficit’ persists because mattering is constructed through everyday human interactions, not
or policies.

To engage mattering, leaders need to look and listen to their teams, notice difficulties
and ask substantive questions. Compassionate acts and follow-ups create trust. Affirming pe
strength, narrative and purpose reinforce their distinct value. Sharing impact stories, such ¢
JACT made spaces joyful, moves the purpose deeper. Individuals also believe that they
when they see how small efforts relate to larger goals -such as NASA employees connecting
they do to landing a man on moon. Essentially, building a culture of mattering means leac
consistently demonstrate to people they are noticed, heard, valued and required. Its easy
about in theory, but not common practice-but revolutionary when it is executed correctly.

SubQuestion No : 145
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Q.145
What does the term “mattering” mean in the passage ?
(1) Doing your job well
(2) Following rules
(3) Competing with others
(4) Feeling valued and knowing you add value
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558912104
Option 1 D : 42558947116
Option 2 ID : 42558947117
Option 3 ID : 42558947118
Option 4 ID : 42558947119
Status : Answered
Chosen Option : 4
T
Comprehension: I

Read the following paragraph and answer the questions :

One of numerous executive orders of the President aims to achieve global price par
prescription drugs sold in the Country X. This move offers hope to many citizen’s burder
high healthcare costs. Enforcing this rule in practice, however, might be challenging bec:
might entail into import-export rules that don’t align with existing legislation of Country X. ¢
to President’s previous attempts to lower drug prices during his first term, this move cou
encounter legal challenges. However, the government can take some action againsl
pharmaceutical companies, commonly referred to as * Big Pharma’ , by encouraging less exp
generic drugs and putting an end to unfair practices that delays their release. Perhaj
Country X pharmaceutical companies have not yet responded negatively to it possibly becat
new order has little effect on their profits.

The majority of Indian pharmaceutical exports to Country X fall into the low profit g
drugs market, which is less vulnerable to President’s regulations of Country X. Indian busi
might not receive preferential treatment for their branded medicines as the Country X might
to purchase them from developed countries like Germany, UK or France. Additionally, as evic
by trade negotiation with China, the Country X views pharmaceuticals as a sensitive are
might continue imposing special import duties on them. Generic medications from India are cw
free from import duties in the Country X. However it might now insist on the same tari
treatment for its own Pharmaceutical exports to India. Meanwhile, India has established :
international reputation as a supplier of affordable medications. It can bargain for bette:
conditions by using this image.
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SubQuestion No : 146
Q.146
What conclusion can be drawn regarding the present position of the Country X pharmac

industry with regard to executive order ?
(1
2
3
4

Options 1. 1
2.2
3.3
4.4

Actively encouraging

—

Indifferent as their margins remain unaffected
Strongly opposed

—
— '

Already implementing it

Question Type : MCQ
Question ID : 42558912110
Option 11D : 42558947136
Option 2 ID : 42558947137
Option 3 ID : 42558947138
Option 4 ID : 42558947139

Status : Answered

Chosen Option : 1

Comprehension:
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Read the following paragraph and answer the questions :

One of numerous executive orders of the President aims to achieve global price par
prescription drugs sold in the Country X. This move offers hope to many citizen’s burder
high healthcare costs. Enforcing this rule in practice, however, might be challenging bec:
might entail into import-export rules that don’t align with existing legislation of Country X. ¢
to President’s previous attempts to lower drug prices during his first term, this move cou
encounter legal challenges. However, the government can take some action againsl
pharmaceutical companies, commonly referred to as * Big Pharma’ , by encouraging less exp
generic drugs and putting an end to unfair practices that delays their release. Perhaj
Country X pharmaceutical companies have not yet responded negatively to it possibly becat
new order has little effect on their profits.

The majority of Indian pharmaceutical exports to Country X fall into the low profit ¢
drugs market, which is less vulnerable to President’s regulations of Country X. Indian busi
might not receive preferential treatment for their branded medicines as the Country X might
to purchase them from developed countries like Germany, UK or France. Additionally, as evic
by trade negotiation with China, the Country X views pharmaceuticals as a sensitive are
might continue imposing special import duties on them. Generic medications from India are cw
free from import duties in the Country X. However it might now insist on the same tari
treatment for its own Pharmaceutical exports to India. Meanwhile, India has established :
international reputation as a supplier of affordable medications. It can bargain for better
conditions by using this image.

SubQuestion No : 147

Q.147
Match List - I with List - II :
List - I List - II
Country Role
A. India L. Where to find branded medications
B. Germany II. Attempting to regulate the cost of drugs
C. China III.  Provider of inexpensive generic medicines
D. Country X IV. Taking part in pharmaceutical discussions about tariffs

Choose the correct answer from the options given below :
(1) A-1V, B-1II, C-II, D-I
(2) A-II, B-1v, C-I, D-II
(3) A-II, B-I, C-1V, D-II
(4) A-II, B-II, C-I, D-IV
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912112
Option 11D : 42558947144
Option 2 ID : 42558947145
Option 3 ID : 42558947146
Option 4 1D : 42558947147

Status : Answered

Chosen Option : 3

|

Comprehension: I

Read the following paragraph and answer the questions :

One of numerous executive orders of the President aims to achieve global price par
prescription drugs sold in the Country X. This move offers hope to many citizen’s burder
high healthcare costs. Enforcing this rule in practice, however, might be challenging bec:
might entail into import-export rules that don’t align with existing legislation of Country X. ¢
to President’s previous attempts to lower drug prices during his first term, this move cou
encounter legal challenges. However, the government can take some action againsl
pharmaceutical companies, commonly referred to as * Big Pharma’ , by encouraging less exp
generic drugs and putting an end to unfair practices that delays their release. Perhaj
Country X pharmaceutical companies have not yet responded negatively to it possibly becat
new order has little effect on their profits.

The majority of Indian pharmaceutical exports to Country X fall into the low profit g
drugs market, which is less vulnerable to President’s regulations of Country X. Indian busi
might not receive preferential treatment for their branded medicines as the Country X might
to purchase them from developed countries like Germany, UK or France. Additionally, as evic
by trade negotiation with China, the Country X views pharmaceuticals as a sensitive are
might continue imposing special import duties on them. Generic medications from India are cw
free from import duties in the Country X. However it might now insist on the same tari
treatment for its own Pharmaceutical exports to India. Meanwhile, India has established :
international reputation as a supplier of affordable medications. It can bargain for better
conditions by using this image.
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SubQuestion No : 148

*™ Which of the following best sums up the significance of Indian generics for the affordabi

healthcare in the Country X ?

A.  They are less expensive

B.  Country X import duties donot apply to them

C. They are mainly used to treat life-threatening diseases.

D. They contribute to lower overall healthcare costs.

E.  They serve as alternatives to branded drugs.

Choose the most appropriate answer from the options given below :
(1) A, B,CandD Only

(2) A, B, DandE Only

(3) C, D andE Only

(4) A, Cand D Only

Options 1. 1

2.2

3.3

4.4

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

mcQ

42558912111
42558947140
42558947141

: 42558947142
42558947143
Answered

2
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Comprehension: I

Read the following paragraph and answer the questions :

One of numerous executive orders of the President aims to achieve global price par
prescription drugs sold in the Country X. This move offers hope to many citizen’s burder
high healthcare costs. Enforcing this rule in practice, however, might be challenging bec:
might entail into import-export rules that don’t align with existing legislation of Country X. ¢
to President’s previous attempts to lower drug prices during his first term, this move cou
encounter legal challenges. However, the government can take some action againsl
pharmaceutical companies, commonly referred to as * Big Pharma’ , by encouraging less exp
generic drugs and putting an end to unfair practices that delays their release. Perhaj
Country X pharmaceutical companies have not yet responded negatively to it possibly becat
new order has little effect on their profits.

The majority of Indian pharmaceutical exports to Country X fall into the low profit ¢
drugs market, which is less vulnerable to President’s regulations of Country X. Indian busi
might not receive preferential treatment for their branded medicines as the Country X might
to purchase them from developed countries like Germany, UK or France. Additionally, as evic
by trade negotiation with China, the Country X views pharmaceuticals as a sensitive are
might continue imposing special import duties on them. Generic medications from India are cw
free from import duties in the Country X. However it might now insist on the same tari
treatment for its own Pharmaceutical exports to India. Meanwhile, India has established :
international reputation as a supplier of affordable medications. It can bargain for better
conditions by using this image.

SubQuestion No : 149 I
Q.149
What is the central irony in President’s push for drug price in the Country X ?
(1) It benefits only non-Country X companies
(2) It depends on low cost imports from nations the Country X wants to restrict
(3) It runs counter to his endorsement of big pharma
(4) It will reduce worldwide healthcare expenditures
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912114
Option 1 1D : 42558947152
Option 2 ID : 42558947153
Option 3 ID : 42558947154
Option 4 ID : 42558947155

Status : Answered

Chosen Option : 2
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Comprehension: I

Read the following paragraph and answer the questions :

One of numerous executive orders of the President aims to achieve global price par
prescription drugs sold in the Country X. This move offers hope to many citizen’s burder
high healthcare costs. Enforcing this rule in practice, however, might be challenging bec:
might entail into import-export rules that don’t align with existing legislation of Country X. ¢
to President’s previous attempts to lower drug prices during his first term, this move cou
encounter legal challenges. However, the government can take some action againsl
pharmaceutical companies, commonly referred to as * Big Pharma’ , by encouraging less exp
generic drugs and putting an end to unfair practices that delays their release. Perhaj
Country X pharmaceutical companies have not yet responded negatively to it possibly becat
new order has little effect on their profits.

The majority of Indian pharmaceutical exports to Country X fall into the low profit ¢
drugs market, which is less vulnerable to President’s regulations of Country X. Indian busi
might not receive preferential treatment for their branded medicines as the Country X might
to purchase them from developed countries like Germany, UK or France. Additionally, as evic
by trade negotiation with China, the Country X views pharmaceuticals as a sensitive are
might continue imposing special import duties on them. Generic medications from India are cw
free from import duties in the Country X. However it might now insist on the same tari
treatment for its own Pharmaceutical exports to India. Meanwhile, India has established :
international reputation as a supplier of affordable medications. It can bargain for better
conditions by using this image.

SubQuestion No : 150 I
Q.150
Which of the following statement is correct as per the paragraph ?
(1) Country X attempted to restrict supply of drugs from china and avoiding negotiation
it.
(2) President had never attempted to lower drug prices in Country X
(3) India being a supplier of affordable medicines can bargain its trade conditions
(4) Country X is currently imposing import duties on generic medicines from India
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558912113
Option 1 ID : 42558947148
Option 2 ID : 42558947149
Option 3 ID : 42558947150
Option 4 ID : 42558947151

Status : Answered

Chosen Option : 1
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